Quiz 4 /HQ@

This is a two-stage quiz. During the first stage, use your knowledge & calculator. You have
15 min. In the second stage, you are now welcome to use your books, notes, and students
in the class to retake the same quiz. You have the remainder of the quiz time to write one

solution (with everyone’s name on it!!!) to be turned in for the group.
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2. [3] (WebHW7-1) Given that f( )=4, f4) =5, f'(1)=717, f'4 ) = 5 and that f is
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A ¢ ;Mn‘z 3. A particle is moving along a straight line and has a velocity v(t) = tet meters per
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(a) [1] Find the velocity when ¢ = 2. ﬁ)} c;) et oy .,? %"“fg
(b) [2] (WrittenHW?7. 1#75) Find the expression that you could give to technology
that would return the change in distance in the first 2 seconds.
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